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00 20000000000 MOODOOODOOOOOOOOO 3O0O0OoOoOoOoOooOoOo
t=(T,i,q)

T:Z—KOOOOOOT(n) #BO000000,00000000000
i 20000
¢ KOOOO

00 300000000 MOODOOOOOt00#000000¢tFy, #0000
6(q,T(1)) = (a,d,q¢") = (T,i,q) Fm (T7,7,q)
« T'(i)=a, k#i000 T'(k) = T(k)
e d=0000#=i+1,d=00004¢=i—1

v 00O0O0D0ODO H,00000000¢ 000000000(T,0,q) F, (T7,n,¢) O
Toy (T',n,¢) 0000MOTOO0O00000 (T,n,¢)00000

b1 0000000000b00000

Y = {B,E,LR}
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K = {R,L,C,T,F}
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Qo = R
H = {T,F)
q\a B E L R

R |(a,0,C) ] (a,0,R)| (a,0,R) | (E,O,L)
L |(a,0,F)] (a,0,L)|(E,O0,R)| (a,0,F)
C |(a,0,7)](a,0,C)| (a,0,F) | (a,0,F)

00 2000000000 a+4b=c
00000000 (00000B). a=Yka;-2,b=3kb; -2
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00000000 (00000 B). ¢c=Ye-2
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X {B,0,1,M,Ip,1;}
K = {L,R, Ay, A1, Ay, AY, AL, A, Wo, W1, F, T}
o = R
q\a B 0 1 M Ip I
L (a,0,R) (a,0,L) (a,0,L) (a,0,L)
R (B,O, Ap) (B,0,4;) | (a,0,F)
5 — A; (¢,0,L) (a,0,A;) (a,0,4;) | (a,0,4:) ] (a,0,4)) | (a,0,AY)
A (L, 0,W) | (I,0,W;) | (1;,0, W)
AV (L, 0,Wh) | (L, 0,Wi—) | (I;,0,W;)
W; (,0,L) | (4,0,L)
F (a,0,T) (a,0,F) (a,0,F) (a,0,A47) | (a,0,Af)
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2.2 A00000 (syntax)

OO0 420 (Mterm) 0000000000OOOOOO

= x 00 (variable)
| Ax.M 00O (abstraction)
| (M M) OO (application)

¢ 000 (00)000000000(00AD0)0000

A.M OO0 MOOOODOOOOOOO2:00000000000000 f=X.MO000
000000 f(z) =MOO0O0OO0OAMOO0O0O0O0O0O0O00000000000000000
00O

(M; M;) 0000000000000 M(M,) 000000MO00(00)0000000
OAD0D00000

0000000000000000

flx)=z+1000 f(2)

g1ooooon
(Azx+1)2)

oooooog xeMOODOMODOUOOODOODOOOOODOOOOOODDODODO M
obobd-s00000000000DO00000DO00D00DO0OzOD MOODOOODODOMODO
00000 FV(M)OOODDOOODOOODODOOODOOO

FV(x) = {z}
FV(x.M) = FV(M)\ {z}
FV(M N) = FV(M)UFV(N)

0000000000000 oo0ooO((V/zlM) DO MOOODODOOODOOOOOOO =
onNODOOOoooo

([N/z]z) = N

(IN/2]y) =y
([N/z]Ae. M) = Xa.M
(IN/zlhy.M) = Xy.([N/2]M)
([V/z]

N/a|(M M")) = (([N/x]M) ([N/z]M"))

400000y0 NOODOOOODOOOODOOOOOODOOOOOU0DeOOOODOOOZ20
MOOODODODODOOoDOoD
Ay.M — Xz.([z/y|M)

gboboboboboooobooooon

23 0000

U0 s A00c00000pOLOOLODLOODOOLOODOLOONDDODODOO

(Ax.M) N) — ([N/x]M)
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g 3 o0o0oo
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24 ANOOOOODOOO
gbobobooboaOobboboOoon

OO0 0O0000000O0D000O0O00O0O00 (Church numeral)d

ch=Af x(f ... (fx)...) fO0n0000O
cy = dmAInAf . (m f (n fz)) OO

0000 Oooooooboooooo
t= Az \y.x f=Xx)\y.y not = \b.Az.\y.(b y x)
0o0o0oooooooooooobooooooooooooooooon
if0 = An.(n (\z.f) t)

000000 00000000000000000000YOO00000000000000
00 M)O (M (Y M))000000000000

V= AfAz(z (f f ) MAe(z (f f )

ubboobooboobbooooaon

e = (Y (MfAzxy.(if0y z (f (p ) (Py))
s = Af . (f (n fx)
p = An.(n (Az.(if0 z f (s 2))) f)

25 0000

ubooboooobobooobboobbuoooboboooboboobbooobooobooooo
gobboobobooobobooooboooboooboooboboobbooboboobboo
gbobobobobobo
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000 0000000000000O0(00)0000000000000000000000
0000000000000000 (z ((Ayy) 2)0 Ax.((Ayy) 2) 000000000 (yOOO
00000)000000000000000000M.MOO0O (M, ... M,)000000
00000000000000000

0000 000000000000000000000000000 (call-by-name)d00000
00000000000000000000z.2) ((Ayy)2) — ((Ayy) 2000000 M —* N(N
000)0000000000 M —*NO

000000 0O0O00000000000000000000000000000000 (call-
by-value) D10 0000000000000000000000 (Az.z) ((Ayy) 2) — (Az.z) 2)0
00000 M—*..(0000000)000000000000000000000

00 000 (U00O0)0o0(0000)000O00D00O0O0O0UDOOOAOODOOOODOOO
gobooboogoobooo

3 dodbbobuooouoobbogood

3.1 OJO0OOoOoooooanbOd

0000000 0O000O00O000O0000D000000O00O0O0O0O(ar,a)=Af(f a1 a2)0
00000000000 0000DO0O000000 (a1,a2)( Az y.z) =a0000000 fst=
Ap.(p (AzAy.z)) O snd = Ap.(p (Az.Ayy)) 000000000 n0000O0O0 (ag,...ay) =
MNA(far ... ap).

00000000000000000000000000000 [a1,a,...]0 (a1, [as, as, .. .])
= A.(f a1 [ag,as3,...,]) 00 0000000000OANDOOODOUOOOOOOOOOOOOO0O
000D YOOooOooooaOoDoooo

00000 M=(K,%,q,H,0),|K|=k |$=100000000000000000000
K={q,...,q4-1}, X2 ={00=B,...,00,}00000000000

i = Axg...Tp_1.T;
T = ALg...X]_1.2;

00 00 (T,n,q)0

@Tm),[T(n—1),T(n—2),..],[T(n+1),T(n+2),...])

0D4000000000000000000000BOOOOOO0O0000O0OOOOOOYO
00000000[B,..]=Y.(B,y) —* B, Y \w.(B,y)) —* ...

o000 OO0OO0OO0OO0oDoOOobOOO0ODOoOobObOObO!obOok0OODOoO

A = )\75.75((3((]0,0‘0),5((]0, 0'1), e ,g(qO, O‘l_l)), ceey (S(qk_l,go), .. ))
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Ay f(d, fst ty,snd ty, (o7, t,)) when §(q,0) = (¢/,0,¢)
(g, 0) =& Myt f(d, fst tr, (0/,t)),snd t,) when 6(q,0) = (¢/,0,q")
My (G, T, t, ) when ¢ € H

0000 fO0000 2000000000000 AODDO (K,X,% list,X list) —
(K, X, X list, X list) 00 0000000000000 00O000O00O0ODOO

00 AQ01000000O0O00OO0OOD0O0OCOODOO0OO0OOOO0O0OCODOO0OOD fODOOODO

MA D (KX, X list, X list) — (K, 3,3 list, X list)) —
(K, 5,3 list,S list) — (K, %, list, s list))

Y (Af.A): (K, 8,5 list, S list) — (K, %, 3 list, S list)

O0ooooooooooooTs(Tn,d)0000000000ODO0O0O0OOOOOOOOO
goboobooobboobooboobooboobbooboobbooboooon

Y (Af.4)) (90, T(0), [T(=1),.. ], [T(1),...]) =~
(¢, T'(n),[T"(n—1),...],[T"(n+1),...])

3.2 ANOOOODOoDboooooboooo

oooooooaOdbOOoOoDOOoOobobOOoOobDOoOobDboOoo
oOoooOooOo0oDOoOobOOo0DOOoU0bDOoUoDbDOoOAOODOOOOOOOOOObDbOObO
oodboboboboobobboUbObOODOUOLOODOOUOO DeBruim oo O

00 6 De Bruijn 0O goooooobobobboooooaa
M:=n| M| (M M)

O00000000000000 (C0O0O000)000000000o0ooon Az y.z = AN2,
Ar.(z z)=XA(11) 000000000000

I k = k+1 k>n [N/n]n = N
tmk = k k<n  [N/nlk — k-1 k>n
Tt AM = Aftnsr1 M) [N/n]k = k E<n
IN/ADM = Al N/n+ M)
[N/n]

s00  AM N — [N/1]M N/n)(M M') = ([N/n]M [N/n]M’)
00 4 000 100000000

fst A1 ab)=AX1AX2) A(1abd) = AN1lab) AX2—=A2ab—Xab—a

000000 50000{0,1,E,A,@ 00000000000 MOOOOOO
n = (n020000)E

A M

(M) — @M

ped
Z|
Il




8 (18 ) ( 8 8 5 ~8 9 )

00000000 A OOOO0O0O0O0O0ODOC ACOOUOO0OODODOOOOOOOOODODOO
gobobooobooobooooooobboooboboobobbooobobooooboboo
gboooooo

3.3 Ouuodbobobood

OO0oOoO0oOoO0bOOoO0oOAODOODOODOOOOANDOOOOOODOOOOOODOOODbOO
gboboboboboobooooooooobooooooooooon

U1l1b000o00b000obogoboboooogoboboobobooooobobooboooboono
gbobooobooooboooboooooboooboooon
oo 000000000000 0OAODODOOO0ODOOOD AODODDOODOOO

4 0O00O0OAD0OO

gboooooooboboboobooboobobobobobbbbUdcec0ObOoDbODbDOD
gbobobobobooboboobooboobobooooooooobooon

4.1 O (type)O O

gboadboobobobgoooobuobogooooobobDooobobobobDooo
gobodgboobobgooboobodboobbooboobobod

b == int|bool|...
blt—t|txt

ygodooboboobbbdodoooaonon
M:i=z|c | Aeit. M | (M M) | (M, M)

ooooooobopOoboOooOobDoOobobosODOODbOOOD

(Ax:m.M) N — [N/z]M
(fstrwg—r (M,N)) — M

(S TX0—0 (M N)) — N
(addint—int—int Mint Nint) — (M 4+ N)int

4.2 000

0000000 (well-formedness) 00000000
'M:r

MOOOOOO-0000D0000O0TO000O0000O0O000000000 (21 : 71, -,
Tyt Tp) O
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o0 v ooobobooboboobobobobobobobobo

00 TI'kFz:7 (z:70000000)
00 Tker:T
z:0-M:71
'Xx:0.M: 71
r-m:0—-r I'EN:0O
'F(MN):T
r-mM:r THEN:0
'E(M,N):7x80

oo

oo

oo

ugo 5 0O0O

T :int b Sipt—int @ INt — int x :intk 2 :int

x :int b (Sipt—int @) @ int

F Az:int.(Sipt—int ) @ int — int = Line ¢ int

F ((Az:int.(Sint—int «)) lint) :int

4.3 00O
OO0000O fst,snd0006 00DOODOOOODOOODOOOODOOODO

o0 2o00)I'FM:70 M—-NOOOUOOOOTHEN:7O000000

00 3(0000)T+-M:70000000000 (M—M —M,—..)0000000

4.4 0DO0O0OOO

goboogoob booboboobboobboobboobboobboobboooboboo
gboboboboboboboboboboboboob

newref, . ef(r) M —~ ¢ 0000000 -00MOO0O00O
deref es(r) .y 7 —~ M 0O0r000MOOCO
setref o(r) or ot T M — () OO0r00MOOOOO

0 fn)OOOODOr0000,000000000000000

7 : ref(int) = newref 0
fint — int = Az.((Ay.((Az.y) (setref r y))) (add (deref r) z))

000000000000000 O000000000000000000000000 f:60—7
00000000000000000000000000000000 f:60—0—(rxo)00
00000 (¢0D000000)000000000000000ADODOOOOOO

006 — (rxo)=ST(r)00000000000 ST(r)000000000000000

O=01 X...X0Op
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getigr(o,) (81,5 8n) — (83, (S15.++,8n))

setio, —s7(unity M (51,---,5n) — () (S1yvy8i—1,T, Sit1y---55n))
thensr(o)—(0—s7(r))—57(r) M N s —  (Ap.(N (fSt p) (snd p))) (M s)
return, gy M s — (M,s)

gbobooboobooboooboobooooon

g oo

s :int x bool x int = (0, t,0)
fint — ST(int) = Az.(then get3 (Ay.then (set3 (add z y)) (Az.get3)))

Oodad
1] 0000.000000000000,00000000,090.000, 1986.

[2] Eugenio Moggi. Notions of computation and monads. Information and Computation, Vol. 93,
pp- 5592, 1991.

3] D0O00.00000000,000000,070.0000, 199%4.
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